CURRENT

TEravany e,
L AT
IR




TABLE OF CONTENTS

Page
Main Frame Disassembly Instructions .........o.viiiiiiiniareennnas. 1-2
Assembly Instructions . .......c.. it 2-5
Mounting and Installation of Transformer Board ....................... 6-7
Wiring Transformer Board . ... ...t iiiiii e, ..8-9
Operating INStruCtioNS . .. ...ttt e e e e e e e 10
Interconnection DIagram . ... ... ..t e 11
Display Board Schematic ...........o.ivireni e ieinanns. e 12

Transformer Board Schematics for
5, 8and 12 Z0Ne .o 13-15




DIGITAL CURRENT VOLTAGE MONITOR KIT
INSTALLATION INSTRUCTIONS |

MAIN FRAME DISASSEMBLY INSTRUCTIONS:

1.

Disconnect main frame from AC power source. DANGER: Make sure that your
in-plant disconnect mechanism is in the “Off” position and is secured in the
“Off” position by a padlock or other means provided by the manufacturer of the
disconnect mechanism,

Remove all temperature control modules and set aside.
Remove main frame back cover, saving all hardware and set aside for reuse later.

Remove four screws mounting circuit breaker to circuit breaker panel. Save
hardware for reuse later. Remove four screws holding circuit breaker panel to
main frame. Save hardware for reuse later. Refer to Figure I.

If neon phase lights are connected to buss strip, unplug wires from buss strip so
that panel can be removed. Remove panel and set aside or discard. If phase lights
are connected to bottom of circuit breaker, it will be necessary to twist breaker
panel around inside the main frame in order to remove nuts and disconnect light
wires. This will necessitate popping out the front edge of the upper and lower
card guide rails directly adjacent to circuit breaker panel as indicated in Figure .
When panel is free, set aside or discard.

PANEL SCREWS

' CARD GUIDE RAILS v
PANEL SCREWS




6. Remove all three fugged #8 wires from bottom of circuit breaker. Note color
coding or numbering for future reference.

7. Carefully remove nuts holding down the two outside barrier blocks (bottom
outside corners of circuit breaker). Refer to Figure 11. Remove barrier blocks and
save for modification if necessary.

ASSEMBLY INSTRUCTIONS:

1. Locate two modified barrier blocks supplied with Current Voltage Monitor Kit.
Note that barrier biocks supplied with the kit have been modified by removal of
the anti-spin tab on the back of the barrier block. This allows the barrier block to
be installed in the reverse position which provides the additional insulation
required between circuit breaker lugs and bottom of main frame. Position barrier
blocks as shown in Figure It and secure in place with previously removed
hardware. Care should be taken to assure that the bottom of the barrier blocks
remain square with the bottom of the circuit breaker when tightening nuts. If
barrier blocks were not supplied with kit, it will be necessary to modify barrier
blocks removed in step 7 of Disassembly Instructions. This can be accomplished
by filing off the anti-spin tabs on the bottom of the barrier blocks.

2. Re-fasten lugged #8 wires removed in step 6 of Disassembly Instructions. Bend
lugs at right angles and position so that wires come up and out. Then secure with
appropriate hardware as shown in Figure 11 Be sure to observe color coding or
wire numbering when reconnecting wires.

INSTALL INSULATOR CUPS ON
THE TwWO CQUTER BREAKER
STUDS AS SHOWN. INPUT FROM

TERMINAL BLOCK
TOP THREE
RL1 LOCATIONS

HEAT SHRINK s /LZ

BEND THE CRiIMP

ANTI—SPIN TERMINAL A8 SHOWN

TAB —

Lo, \
ANTi——SF’%N>< - T3
TAB REMOVED S

CUTPUT TO POWER “R_ L1
DISTRIBUTION STRIFPS.
FOLLOW MARKINGS ON
DISTRIBUTION STRIE

INSULATORS.

CIRCUHT BREAKER DETAIL

rig. Il

-2



3.

Place Current Voltage Monitor face fldte assembly in front of circuit breaker.
Thread 20 conductor flat ribbon cable through main frame from the front and
around input power terminal block. Pull slack cut of cable. Also thread neon light
wires and phase voltage wires through main frame around input terminal block
bracket. Take up extra slack on all wi
with fan blades. Refer to Figure 1.

res, making sure that there is no interference

Attach wires from neon light to terminal strips RLT and SL2. Mote: For export
wiring, connect to RLT and MPN,




5. For standard 3-phase wiring, attach phase voltage wires to appropriate terminal
strip. Wires are marked RL1, SL2, TL3 and MPN. For single phase voltages,
connect wire RLT to terminal strip RL1 and wire with colored stripe to the other
side of the incoming line. Note: For single phase or export applications, it is
necessary to cut the 240V 3-phase jumpers located on back of meter board. Refer
to Figure IV for location.

6. Replace four ¥ x 6-32 screws mounting circuit breaker to circuit breaker panel
which were removed in step 4 of Disassembly Instructions.

7. Replace four % x 6-32 self-tapping screws holding circuit breaker panel to main
frame which were removed in step 5 of Disassembly Instructions.

240V 3-PHASE
JUMPERS




8. Locate transformer board and connect. 20 conductor flat ribbon cable that was
previously threaded through the main frame to ribbon cable connector on the
transformer board as shown in Figure V. Note: Position color stripe on flat ribbon
cable over #1 position on ribbon connector as marked on transformer board.
With ribbon cable in position over ribbon connector, place the top half of ribbon
connector over ribbon cable. Make sure that cable remains flatand square in the
connector and using pliers or similar tool, squeeze the two halves of ribbon
connector together. Use care not to apply excessive pressure with pliers which
may cause damage to the PC board and connector, 1t is recommended that a
scrap piece of wood or cardboard be used to protect the bottom of the PC board
from the jaws of the pliers. Work the pliers from end to end on the connector
until the two halves of the connector are even and snug.

Fig. V




MOUNTING AND INSTALLATION OF TRANSFORMER BOARD:

1. Locate hardware supplied with Current Voltage Monitor Kit. If main frame is
equipped with communications board, remove 4-40 nuts from positions shown
in Figure VI and replace with 72 x 4-40 standoffs supplied with hardware kit
(tighten standoffs securely).

2. If main frame is not equipped with communications board, install V4 x 4-40 screws
in hole locations as shown in Figure V1. Install screws from the front of main frame
through the connector mounting plate and secure with #4 lock washers and % x
4-40standoffs (tighten standoffs securely). This will provide the required standoff
distance for PC board clearance.

TRANSFORMER BOARD

i

M | I? \I‘ }_“ ?‘_’w LL‘ g__‘ 7_ gﬂ ﬁﬁ

REAR VIEW 12 ZONE

LTS
anzi

Lt

== i —
STANDOFF LOCATIONS

REAR VIEW 8 ZONE

\\"% //7‘

_
REAR VIEW 5 ZONE




3.

Position transformer board over the standoffs so that mounting holes are prop-
erly aligned as shown in Figure VIi. Secure transformer board to standoffs using
#4 lock washers and ¥ x 4-40 screws supplied with hardware kit. Locate three
adhesive flat ribbon cable clips provided in hardware kit and position along
inside top lip of main frame cover. Note: Before installing, be sure position
selected allows for free unobstructed operation of clip. After position is selected,
remove paper from adhesive strip and stick in place. Position ribbon cable inside
clips. Fold cable to take up excess slack and secure in place by latching hinged
cover on plastic clips.

Locate two #16 AWG black power supply wires supplied with hardware kit and
connect one end of each wire to transformer board using the quick slide
connectors provided. Connect the other end of wires to terminal strips RL1 and
SL2respectively. Mote: For export wiring, power supply wires must be connected
to MPN and RL1 or damage will result.

Cut all tie wraps on input power wire harness. This harness can be identified by
tracing wires back to input terminal strips RL1, SL2and TL3. The input wire harness
is used here because the wires have the necessary additional length to allow them
to be looped around their appropriate current transformer cores.

Fig. VII



WIRING TRANSFORMER BOARD:

1. Loop brown/white wire (brown wire with white tracer) from edge card connec-
tor #1around core of current transformer #1as shown in Figure Vi1, Make loop as
tight as possible and secure with T & B tie wrap supplied with hardware kit

2. Continue looping input wires from each zone edge card connector around
appropriate current transformer core. Use table below to match zone number/-
wire color to appropriate current transformer:

Zone Color Transformer
T, Brown/White ...... T1
2........Red/White,....... T2
3......Orange/White ...... T3
4....... Yellow/White ...... T4
5. Green/White....... T5
6........Blue/White ....... 16
7.......Violet/White......, T7
8........Gray/White....... T8
9........Black/White....... T9

10..... .. Black/Orange ...... T10

M........Brown/Red ....... TT

12........Red/Green ..,.... T12

Fig. Vil

-8-



Make sure all wires are looped around the appropriate transformer core and that
power supply wires from transformer board are connected as explainedinstep 4
of Mounting and Installation of Transformer Board Instructions,

Make sure phase voltage wires coming from front panel meter board are con-
nected to the appropriate power distribution terminal strips, MPN, RL1, SL2 and
TL3respectively or as discussed in step 5 of Assembly Instructions. Also make sure
thatwires from neon light mounted on front panel are connected to RL1 and SL2
or RLT and MPN for export wiring.

Dress all wires so that they lay with the remaining wire bundle running through
the mid section of the main frame. Refer to Figure IX. Fold any excess length of
wire into a neat bundle and tie wrap bundie together.

Replace main frame rear cover which was removed in step 3 of Disassembly
Instructions.

Reinsert modules into appropriate zone locations in the main frame and recon-
nect AC power,

Fig. IX




OPERATING INSTRUCTIONS:

1. Turn circuit breaker to the “On” position. The amber neon light on the front
panel should illuminate, indicating that power is applied to the modules and the
current voltage monitor.

2. Rotate the selector switch on the current voltage monitor to the Check “0”
position. Allow several seconds for the display to stabilize. Reading on the display
should be “000.”

3. Rotate selector switch to the “VL1” position. The display should indicate phase 1
voltage. “VL 2" would show phase 2 voltage, “VL3” would show phase 3. Note
that while the selector switch is in the “Volts” position, a “V” is displayed to the
right of the numbers. Rotating the switch to the #1 position selects the “Amps”
function of the meter. Note that the “V” that was displayed in the “Volts” position
disappears and an “A” indicating “Amps” is now displayed to the right of the
numbers. The #1 position displays the current flowing to the load from zone #1;
likewise the remaining numbered positions will select the “Amps” function for
each zone respectively.

-10 -




J240V3¢ CONSISTS OF 3 UMPERS
JUMPERS SHOULD BE W PLACE FOR 240 VOLT 34

REROVE JUMPERS FOR

415-380 YOLT 3¢ OR 120,240 VOLT 13

RIBBON CABLE CONNESTOR
WITH COVER AND CABLE
REMOVED,

\ Pl g 3
& <l
g m ] 2
M _ “ .
i
1t
<
RIBECON CABLE CONNECTOR <}
WITH COVER AND CABLE

REMOVED.

&y

NOTE: FOR EXPORT SHIPMENTS, THESE
CONNECTIONS ARE AT MP /M.

-11-



i
;
i

RIS SR O (B
HAS 10K
i G, SRR D i

YAS 100UF 18V I

3

1P

L=Thed L]

BER

il

TO CURRERT 18
TRANSFORMER VIA —— > 137
RIGEQH CONMECTOR ~ - amw -
1
14 i i
T
< 2 !
2
le 1 ! Iv-oed :
= =]
t ! _
b g M .._ = 4
_HN 5 T 4 n| =
g
B
W 2 +M¢_¢..11:!.Hi!uwm.iiz§: EL
< 1 ct ko
¥ oF yz 1
Mr QOJnII_Qm]: “
1240V 38 o2 1
- w20 r .2%@.” u m
|$_ﬂ _
|
Feria| |

73 >—A VAVAVA .
@
489 b
R1?

RENOVE JURPERS FOR L FI240vEE
H15-380 VOLTS 39 R R21 T
oR sz D>—AAN VAYAYS
120, 240 YOLTS 18 g wwu..x @
= RI8S To0K
© ’
|240v3s WOTES: ALL SESISTORS ARE 1/4 MATT SE L84 £S5
i ' SPECIFIED OTHERWISE.
s 2 T
RLT e AN VAVAVA
459 P @
1z =
m18 > 1008
© "




WIRING COMNECT

SIYLE X5 Y 0
A RAY - S/E2
g PN - R
C KR/ - R
D ol IRAT - 812
D =, [N - L
D e | AT - 842

X m T\ o 1e PT1 45
Fuz
=¥ 2 8
240¥AC &
oR | 240v
120YAC
||4.l ) o 7
120V -
148
¥ €™ 4 ]
£

51308

& S51eMAl. 15 DERIVED FRON LOOPLHS

| o

3
RIONE 4 ZOE

THE IKPUT POMER LEAD FROM
EACH TONE THROUBH THE OPEN
CORE. SEE INTERCOIMECT DRANING
FORt WIRING.

bl ol ol
SN L

-13 -



Ea

e [HE [HE

L/.L\ ¥ p e
uZONE 6 | —3/ e

Ve HZGME 3
aIOME 4

B SIGNAL 15 DERIVED FROM LOOPINS
THE INPUT POWER LEAD FROM
EACGH TOHE THROUSM THE OPEN
CORE, SEE INTERCURPECT DRANIMG
FOR WIRING.

\.../.[.\.\

TG DISPLAY BOARD
¥I4
RIBBON CABLE




o i ey N

=T 3 18 YaLT C.T. e

o

SINE AEYTO
A R - 812
| /N - RALI
c MP/M - R/LY
D s . |RAI - 52
0 MP/N - RALY

D ooy e | RALT ~ A2

& SIGNAL 15 DERIVED FROM LOOPING

B | e

.;l____.

\...l.l\.\ \l/.rl\\._

EIONE 7 REOME &

THE IMPUT PORER LEAD FROM
EACH ZOWZ THROUSH THE OPEN
CORE. SEL INTERCOMMECT DRAWINS
FOR WIRING.




